We provethat aisaunit of infinite order in ZG.
@:ZG — Rdefined by @(x) = (.. Notethat @) = —2(1 + + (+ %) - - 3% - (+2=—((3+5(+3).0On

the other hand, (L + )* =1+ 4+ 607 + 43 - (1 + (+ & + ) = ((3+ 5 + 37%). Therefore, g(—a(xu) ) = 1.
Since —a(xu) 2 has clearly augmentation 1, our earlier argument implies that —a(xu) 2 = 1. It follows that a =
—(xu)? isaunit of infinite order in ZG, witha > = —(xt) * = -x3?= -x3(1 - x = x)?= 3L+ + 8 - 2x - 2¢*
+20) =2 -3 +2¢-x - 1.
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